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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
SX R 5,111,787 4,611,787 500,000
= 241,000 241,000 0
Al 4,870,787 4,370,787 500,000
% 2 EXNRA(AMY - FAIY/MNYTE - D5 883,628 383,828 500,000
= 71,000 71,000 0
Al 812,828 312,828 500,000
Y ¥ EXRA 883,628 383,628 500,000
= 71,000 71,000 0
Al 812,828 312,828 500,000
SHRIIIY AsHE 500,000 0 500,000
401 A4l 2 = CH | 500,000 0 500,000
01 A&l 495,250 0 495,250
OAAIE 2 HI 25,000,0002 * 14 25,000 0 25,000
OUPHERSTHI HZSHT M
5,000,008 * 755 * 99/100 371,250 0 371,250
OUPHRSZHN B8 ZHBA
100,000,000 * 1Al * 99/100 99,000 0 99,000
03 Al& = CH | 4,750 0 4,750
OUPHERSZHI HZSHX M
5,000,0002 * 755 * 1/100 3,750 0 3,750
OUPHRSZHN B ZHBA
100,000,000% * 1Al « 1/100 1,000 0 1,000




